Infection Control Summary Report: Updated to 6th March 2009

Headline Information:

first 48 hours of admission.

For the week ending 6th March, there have been 0 new incidents of MRSA and 2 new incidents of C-diff.
A step change has been added to the C-diff SPC to reflect the drop in numbers.
Please note that March's figures are incomplete.

-C-diff performance in 2008/09 is measured against all patients aged over 2 years, excluding GP community samples and patients diagnosed in the

MRSA: Incidents against trajectory 2008/09

MRSA: SPC chart of incidents by month
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